

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 Quotation - 454955

Quote Date - 08/05/24 Customer 095216 Terms - NET 30

Account Representative JASYMIN DESTIN

Quote Presented To

CITY OF LAUDERHILL 5581 WEST OAKLAND PARK BLVD. FORT LAUDERDALE FL 33313 **Customer Ship To**

KENTREA WHITE CITY OF LAUDERHILL 5581 WEST OAKLAND PARK BLVD. FORT LAUDERDALE FL 33313

Phone +1 (954) 730-3044

Phone +1 (954) 730-3044 Tax 85-8012740208C-7

City of Lauderhill Annex

Quoted lead times are an estimate and are not guaranteed. Lead times are subject to changes beyond Empire's control and may be attributable to supply chain, transportation, production, etc. Should Empire learn of a delay, client shall be advised.

Desci	ription		Quantity	Unit Price	Extended Price		
01. M	01. Multipurpose Room 123						
1		ocket; Cart, Mobile, Adjustable height, 23W x 22D 243 SEAGULL 01. Multipurpose Room 123 POCKET	1	1,669.97	1,669.97		
2	FRAME: 4799 SEAT: 6BD5 SHELL: 6BD5 GLIDES: *OP	5 HONEY	72	203.18	14,628.96		
3	VTRF - Verb;	Table-Rectangle, Flip-top	36	798.33	28,739.88		

DEPTH: 24.00000 **WIDTH:** 60.00000

TOP SURFACE FINISH: WOODGRAIN HPL 2HBW - BISQUE

WENGE (HPL)

EDGE FINISH: PLASTIC - PG1 6705 - BISQUE WENGE

LEG: CAST LEG

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

Quote authorized by:

Deter Gaslow - Desident
Empire Office Inc.

ACCEPTED BY:		
TITLE::	DATE:	



110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955 Page 2 / 43 (cont'd)

Description Quantity **Unit Price Extended Price** 3 LEG FINISH: SMOOTH METALLIC 4799 - PLATINUM METALLIC **CASTER: 4 LOCKING CASTERS UNDERSIDE: LIGHT** SIDE DOCK AND HOOK: NO SIDE DOCK & HOOK **STOW HOOK:** NO STOW HOOKS **CENTER DOCK WITH NO STORAGE: NO CENTER DOCKS MODESTY PANEL: NO MODESTY PANEL STEELCASE** Tag For 01. Multipurpose Room 123 24/60-FP-CL **Sub Total** 45,038.81 Total 45,038.81 02. Office 131 4 760.33 760.33 CROHHD - Overhead- Hinged Doors 1 **SIZE OPTION: MODULAR** WIDTH: 72.00000 ATTACHMENT BRACKETS: WALL MOUNT BRACKETS CASE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) **HEADSET FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE** LOCK FINISH: POLISHED CHROME 9201 - POLISHED **CHROME KEYS: KEY PLUG STEELCASE Tag For** 02. Office 131 OH/72.0000/15 5 CRPD2HFF - Pedestal-2-High, File/File 1 513.89 513.89 **SIZE OPTION: MODULAR DEPTH: 24.00000** CASE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) HEADSET FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE LOCK FINISH: POLISHED CHROME 9201 - POLISHED **CHROME KEYS: KEY PLUG PULL: LEDGE** PULL FINISH: SMOOTH METALLIC 4799 - PLATINUM **METALLIC**

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

Quote authorized by:_

Peter Gaslow - Fresident Empire Office Inc. ACCEPTED BY:_____



110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 Quotation - 454955 Page 3 / 43 (cont'd)

Desc	cription		Quantity	Unit Price	Extended Price
5	COUNTERW	EIGHT: WITH COUNTERWEIGHT			
	STEELCASE				
	Tag For	02. Office 131 FF/24			
7	UFB - Bracke	et-Flush mount	1	11.08	11.08
	STEELCASE				
	Tag For	02. Office 131 FMB			
9	CRCT - Com	mon Top, Worksurface	1	111.10	111.10
	DEPTH: 24.0	00000			
	WIDTH: 48.0	0000			
	WENGE (HP	CE FINISH: WOODGRAIN HPL 2HBW - BISQUE L) H: PLASTIC - PG1 6705 - BISQUE WENGE			
	WORKSURFACE THICKNESS: 1.12500				
		LOCATION: NO GROMMET			
	STEELCASE				
	Tag For	02. Office 131 CT/24/48			
10	CRCT - Com DEPTH : 24.0	mon Top, Worksurface	1	157.56	157.56
	WIDTH: 72.0	0000			
	WENGE (HP	CE FINISH : WOODGRAIN HPL 2HBW - BISQUE L) H : PLASTIC - PG1 6705 - BISQUE WENGE			
	WORKSURF	ACE THICKNESS: 1.12500			
	GROMMET L	LOCATION: NO GROMMET			
	STEELCASE				
	Tag For	02. Office 131 CT/24/72			
11	CRDSHLO -	Desk- Shell,6" Overhang	1	547.42	547.42
	SIZE OPTIO	N: MODULAR			
	DEPTH: 36.0	00000			
	WIDTH: 72.0	0000			
	SUPPORT -	RIGHT: FULL DEPTH END PANEL			
	SUPPORT -	LEFT: FULL DEPTH END PANEL			

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

Quote authorized by:

Peter Gaslow - Fresident
Empire Office Inc.

CASE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE

MODESTY PANEL: FULL

(HPL)

ACCEPTED BY:_______ DATE:______



110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955Page 4 / 43 (cont'd)

Description Quantity **Unit Price Extended Price** 11 TOP SURFACE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) EDGE FINISH: PLASTIC - PG1 6705 - BISQUE WENGE **GROMMET LOCATION: NO GROMMET WORKSURFACE THICKNESS: 1.12500 STEELCASE** Tag For 02. Office 131 36/72 12 1 768.41 768.41 CRL2H - Lateral 2 High File/File **SIZE OPTION: MODULAR DEPTH: 24.00000** WIDTH: 30.00000 TOP: NO TOP **APPLICATION: FULL** CASE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE **HEADSET FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE** (HPL) **PULL: LEDGE** PULL FINISH: SMOOTH METALLIC 4799 - PLATINUM **METALLIC** LOCK FINISH: POLISHED CHROME 9201 - POLISHED **CHROME KEYS: KEY PLUG COUNTERWEIGHT: WITH COUNTERWEIGHT STEELCASE** Tag For 02. Office 131 LF/30/FF 13 1 92.11 92.11 CRSQB - Base, Square Leg BASE FINISH: SMOOTH METALLIC 4799 - PLATINUM **METALLIC LEG HEIGHT: 28.00000 STEELCASE Tag For** 02. Office 131 SL/28 4 270.47 1,081.88 14 475412M - Player; Chair-Leg base, Smooth arms, Glides BACK FINISH: GRADED-IN PRC GRP 08 59DH - GRADED IN PR. GRP. 8 THE DESIGNTEX GROUP PURCHASER: VENDOR

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

Quote authorized by:

Peter Gaslow - Besident
Empire Office Inc.

PATTERN: PARTICLE -3048 COLOR: COMET -401



110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955 Page 5 / 43 (cont'd)

Description Quantity **Unit Price Extended Price** 14 DIRECTION: VERTICAL FRAME FINISH: POLYPROPYLENE 6249 - PLATINUM SOLID **SEAT FINISH: STAND IN 5626 - CHARDONNAY BACK: UPH STD BACK SET SEAT: UPH STD SEAT SET GLIDE: HARD GLIDES SOIL RETARDANT: NO SOIL RETARDANT TREATMENT STEELCASE** Tag For 02. Office 131 **PLAYER** 15 460.96 460.96 1 CRRTBL - Table, Round **DIAMETER: 36.00000** TOP SURFACE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) EDGE FINISH: PLASTIC - PG1 6705 - BISQUE WENGE **BASE TYPE:** X-BASE X-BASE FINISH: SMOOTH METALLIC 4799 - PLATINUM **METALLIC COLUMN FINISH: SMOOTH METALLIC 4799 - PLATINUM METALLIC WORKSURFACE THICKNESS: 1.12500 STEELCASE** Tag For 02. Office 131 36/XB 16 679.70 679.70 465A300 - Think; Chair, 3D knit

COLOR SCHEME: MONOCHROMATIC

FRAME FINISH: SMOOTH METALLIC 4799 - PLATINUM

METALLIC

OUTER BACK FINISH: PLASTIC - PG1 6249 - PLATINUM SOLIE

BACK FINISH: 3D KNIT 5054 - CANARY

SEAT FINISH: STAND IN 5626 - CHARDONNAY

CYLINDER TYPE: STANDARD RANGE

BASE TYPE: PLASTIC BASE

BASE FINISH: SMOOTH METALLIC 4799 - PLATINUM

METALLIC

ARM TYPE: HEIGHT, WIDTH, PIVOT, DEPTH ARM
CASTER OR GLIDE TYPE: HARD CASTERS
LUMBAR OPTION: ADJUSTABLE LUMBAR
HEADREST OPTION: NO HEADREST

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

Quote authorized by:_			
F	Peter Gaslow - F Empire Office In	resident	_
7	Empire Opace and	U.	

COAT HANGER: NO COAT HANGER

ACCEPTED BY:	
TITLE::	DATE:



Peter Gaslow - Fesident Empire Office Inc.

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 Quotation - 454955 Page 6 / 43 (cont'd)

Desc	ription		Quantity	Unit Price	Extended Price	
16	PACKAGING	: NOT APPLICABLE				
	SOIL RETAR	DANT OPTION: NO SOIL RETARDANT				
	STEELCASE					
	Tag For	02. Office 131 THINK				
17	CRMP2HBBI	F - Pedestal-2-High,Box/Box/File, Mobile	1	600.34	600.34	
	SIZE OPTION	N: MODULAR				
	DEPTH: 22.0	0000				
	(HPL) HEADSET FI (HPL) TOP SURFAGE WENGE (HPI	H: WOODGRAIN HPL 2HBW - BISQUE WENGE NISH: WOODGRAIN HPL 2HBW - BISQUE WENGE CE FINISH: WOODGRAIN HPL 2HBW - BISQUE L) H: PLASTIC - PG1 6705 - BISQUE WENGE				
	LOCK FINISH CHROME KEYS: KEY F	H: POLISHED CHROME 9201 - POLISHED PLUG				
	PULL: LEDGE					
	METALLIC	I: SMOOTH METALLIC 4799 - PLATINUM EIGHT: WITH COUNTERWEIGHT 02. Office 131 BBF/22				
40				44.00	44.00	
18	UFB - Bracke STEELCASE	t-Flush mount	1	11.08	11.08	
	Tag For	02. Office 131 BRKT				
19	AWAG2 - Gro	ommet-Round, 2 1/2 dia	1	37.28	37.28	
	GROMMET:					
	STEELCASE					
	Tag For	02. Office 131 GR				
20	TS7WKSPT6 STEELCASE Tag For	66 - Reinforcing channel, 66W 02. Office 131	1	21.06	21.06	
		RC				
Sub '	Total				5,854.20	
Tota	ı				5,854.20	
U3 E	200ms 100 8 4	110 - BD Reception				
- UU. F	COUNTS TOS CO	110 - DD Reception				

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

ACCEPTED BY:___



Peter Gaslow - Fesident Empire Office Inc.

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 **Quotation - 454955** Page 7 / 43 (cont'd)

Desc	ription	Quantity	Unit Price	Extended Price
23	TS724THF - Frame, Horizontal package, Thin, 24W	3	37.69	113.07
	BASIC: 4799 PLATINUM METALLIC			
	TC OPT: *OPT:TOP CAP OPTIONS			
	STD CAP: STD:STD TOP CAP			
	CABLEOPT: *OPT:CABLE TRAY OPTION			
	NO TRAY: NO CABLE TRAY			
	BASE OPT: *OPT:BASE TRIM OPTIONS			
	KO BOTH: STD:KNOCKOUT BASE BOTH SIDES			
	TRAY OPT: *OPT:BASE TRAY OPTION			
	NO TRAY: NO BASE TRAY			
	STEELCASE			
	Tag For 03. Rooms 109 & 110 - BD Reception 24/66			
24	TS742THF - Frame, Horizontal package, Thin, 42W	2	47.94	95.88
	BASIC: 4799 PLATINUM METALLIC			
	TC OPT: *OPT:TOP CAP OPTIONS			
	STD CAP: STD:STD TOP CAP			
	CABLEOPT: *OPT:CABLE TRAY OPTION			
	NO TRAY: NO CABLE TRAY			
	BASE OPT: *OPT:BASE TRIM OPTIONS			
	KO BOTH: STD:KNOCKOUT BASE BOTH SIDES			
	TRAY OPT: *OPT:BASE TRAY OPTION			
	NO TRAY: NO BASE TRAY			
	STEELCASE			
	Tag For 03. Rooms 109 & 110 - BD Reception 42/66			
25	TS730THF - Frame-Horizontal package, Thin, 30W	2	40.18	80.36
	BASIC: 4799 PLATINUM METALLIC			
	TC OPT: *OPT:TOP CAP OPTIONS			
	STD CAP: STD:STD TOP CAP			
	CABLEOPT: *OPT:CABLE TRAY OPTION			
	NO TRAY: NO CABLE TRAY			
	BASE OPT: *OPT:BASE TRIM OPTIONS			
	KO BOTH: STD:KNOCKOUT BASE BOTH SIDES			
	TRAY OPT: *OPT:BASE TRAY OPTION			
	NO TRAY: NO BASE TRAY			
	STEELCASE			

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

ACCEPTED BY:___



Peter Gaslow - President Empire Office Inc.

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 Quotation - 454955 Page 8 / 43 (cont'd)

Desc	cription		Quantity	Unit Price	Extended Pric
25	Tag For	03. Rooms 109 & 110 - BD Reception 30/66			
26	TS766TEPJ	- Junction-End of run, Thin, 66H	4	47.38	189.5
	TRIM: *OPT:	TRIM PACKAGE			
	PAINT: PAINTED TRIM PKG				
	UPRIGHT:	UPRIGHT			
	METALLIC	:: *UPRIGHT:METALLIC PAINT			
	4799 : PLA	TINUM METALLIC			
	STEELCASE				
	Tag For	03. Rooms 109 & 110 - BD Reception E66			
27	TS766TIPJ - STEELCASE	Junction-In line, Thin, 66H	2	30.48	60.9
	Tag For	03. Rooms 109 & 110 - BD Reception I66			
28	TS766TLPJ - Junction-L, Thin, 66H		1	71.49	71.4
	TRIM: *OPT:TRIM PACKAGE				
	PAINT: PAINTED TRIM PKG				
	UPRIGHT: UPRIGHT				
	METALLIC: *UPRIGHT:METALLIC PAINT				
	4799: PLATINUM METALLIC				
	STEELCASE	:			
	Tag For	03. Rooms 109 & 110 - BD Reception L66			
29		- Junction-T, Thin, 66H TRIM PACKAGE	1	71.49	71.4
	PAINT: PAII	NTED TRIM PKG			
	UPRIGHT:	UPRIGHT			
		:: *UPRIGHT:METALLIC PAINT			
		TINUM METALLIC			
	STEELCASE				
	Tag For	03. Rooms 109 & 110 - BD Reception T66			
30	TS766WPJ -	Junction-Wall start, 66H	1	89.50	89.5
	STEELCASE				
	Tag For	03. Rooms 109 & 110 - BD Reception WS66			
31	TS71230TK	- Panel skin-Tackable acoustical, 12H x 30W	1	37.13	37.1
	SURFACE: F	P543 SEAGLASS			

ACCEPTED BY:____



Peter Gaslow - Fesident Empire Office Inc.

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 Quotation - 454955 Page 9 / 43 (cont'd)

Desc	Description		Unit Price	Extended Price
31	FAB DIR: *OPT:FABRIC DIRECTION			
	HORZ: STD:HORIZONTAL APPLICATION			
	STEELCASE			
	Tag For 03. Rooms 109 & 110 - BD Reception			
32	TS71242TK - Panel skin-Tackable acoustical, 12H x 42W	4	40.73	162.92
	SURFACE: P543 SEAGLASS			
	FAB DIR: *OPT:FABRIC DIRECTION			
	HORZ: STD:HORIZONTAL APPLICATION			
	STEELCASE			
	Tag For 03. Rooms 109 & 110 - BD Reception			
33	TS72424LS - Skin, Laminate, 24H x 24W	6	144.37	866.22
	SURFACE: 2HBW BISQUE WENGE (HPL)			
	TRIM: 4799 PLATINUM METALLIC			
	GRAINDIR: *OPT:GRAIN DIRECTION			
	VERT: STD:VERTICAL			
	STEELCASE			
	Tag For 03. Rooms 109 & 110 - BD Reception			
34	TS72430LS - Skin, Laminate, 24H x 30W	4	152.40	609.60
	SURFACE: 2HBW BISQUE WENGE (HPL)			
	TRIM: 4799 PLATINUM METALLIC			
	GRAINDIR: *OPT:GRAIN DIRECTION			
	VERT: STD:VERTICAL			
	STEELCASE			
	Tag For 03. Rooms 109 & 110 - BD Reception			
35	TS72442LS - Skin, Laminate, 24H x 42W	4	166.81	667.24
	SURFACE: 2HBW BISQUE WENGE (HPL)			
	TRIM: 4799 PLATINUM METALLIC			
	GRAINDIR: *OPT:GRAIN DIRECTION			
	VERT: STD:VERTICAL			
	STEELCASE			
	Tag For 03. Rooms 109 & 110 - BD Reception			
36	TS71224SW - Slatwall, 12H x 24W	6	101.70	610.20
	BASIC: 4799 PLATINUM METALLIC			
	STEELCASE			
	Tag For 03. Rooms 109 & 110 - BD Reception			
37	TS71230SW - Slatwall, 12H x 30W	3	117.49	352.47
Prices v	vill be held for 30 days but are subject to increase by manufacturer. Please be ad	vised that this quote r	may not include applicable	sales and use tax.

ACCEPTED BY:____



Peter Gaslow - Fesident Empire Office Inc.

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094

ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 **Quotation - 454955** Page 10 / 43 (cont'd)

Desc	ription		Quantity	Unit Price	Extended Price	
37	BASIC : 4799	PLATINUM METALLIC				
	STEELCASE					
	Tag For	03. Rooms 109 & 110 - BD Reception				
38	TS72424SPV	V - Window-Single pane, 24H x 24W	3	250.22	750.66	
	GLASS : 6500	CLEAR GLASS				
	TRIM : 4799 F	PLATINUM METALLIC				
	STEELCASE					
	Tag For	03. Rooms 109 & 110 - BD Reception				
39	TS72430SPV	V - Window-Single pane, 24H x 30W	2	264.08	528.16	
	GLASS : 6500	CLEAR GLASS				
	TRIM: 4799 F	PLATINUM METALLIC				
	STEELCASE					
	Tag For	03. Rooms 109 & 110 - BD Reception				
40	TS72442SPV	V - Window-Single pane, 24H x 42W	2	294.83	589.66	
	GLASS: 6500 CLEAR GLASS					
	TRIM : 4799 F	PLATINUM METALLIC				
	STEELCASE					
	Tag For	03. Rooms 109 & 110 - BD Reception				
41	UCANT - Car	ntilever, On module application, 16W x 13D	3	44.89	134.67	
	BASIC : 4743	MINERAL METALLIC				
	STEELCASE					
	Tag For	03. Rooms 109 & 110 - BD Reception CANT				
42		DN - Leg-Universal, Left hand, Open, Montage	1	188.98	188.98	
	application, 2					
		PLATINUM METALLIC				
	STEELCASE Tag For					
	ray r or	03. Rooms 109 & 110 - BD Reception OL/24				
43		/S - Leg-Universal, Right hand, Open, Answer	2	188.98	377.96	
	application, 2	4D PLATINUM METALLIC				
	STEELCASE Tag For	03. Rooms 109 & 110 - BD Reception				
		OL/24				
44	Curved, Left I	Worksurface-Extended corner, Plastic edge, Laminate, hand, 23 1/2DL x 23 1/2DR x 71 1/2WL x 41 1/2WR BISQUE WENGE	1	347.48	347.48	
	TOP-SURF: 2	2HBW BISQUE WENGE (HPL)				

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

ACCEPTED BY:___



Peter Gaslow - Fesident Empire Office Inc.

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094

ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 **Quotation - 454955** Page 11 / 43 (cont'd)

Desc	ription		Quantity	Unit Price	Extended Price
44	WKSF OPT:	*OPT:WORKSURFACE OPTION			
	OMIT: OMIT				
	STEELCASE				
	Tag For	03. Rooms 109 & 110 - BD Reception 24/72/42/24			
45	Curved, Righ	Worksurface-Extended corner, Plastic edge, Laminate, t hand, 23 1/2DL x 23 1/2DR x 41 1/2WL x 71 1/2WR BISQUE WENGE	2	347.48	694.96
	TOP-SURF:	2HBW BISQUE WENGE (HPL)			
	WKSF OPT:	*OPT:WORKSURFACE OPTION			
	OMIT: OMIT	SCALLOPS			
	STEELCASE				
	Tag For	03. Rooms 109 & 110 - BD Reception 24/42/72/24			
46		ksurface-Straight, Laminate, Plastic edge profile \! : MODULAR	3	84.52	253.50
	DEPTH: 24.0	0000			
	WIDTH: 30.0				
	WENGE (HP	CE FINISH: WOODGRAIN HPL 2HBW - BISQUE L) CTION: LONG GRAIN			
	EDGE FINISI	H: PLASTIC - PG1 6705 - BISQUE WENGE			
		CESS: NO POWER ACCESS			
	SCALLOP: N				
		NO GROMMET			
		P: WITH CORD DROP			
		1 CORD DROP: 23.50000			
	STEELCASE				
	Tag For	03. Rooms 109 & 110 - BD Reception 24/30			
47	<i>KMINI</i> - Mini	shelf	6	18.00	108.00
	BASIC : 6544	FROST			
	STEELCASE				
	Tag For	03. Rooms 109 & 110 - BD Reception SM			
48	TS7WKSPT5	i 1 - Reinforcing channel, 51W	3	21.06	63.18
	STEELCASE				
	Tag For	03. Rooms 109 & 110 - BD Reception RC/51			

ACCEPTED BY:___



110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955 Page 12 / 43 (cont'd)

Desc	cription		Quantity	Unit Price	Extended Price
49	RPCW - Cou	interweight-Pedestal	6	61.24	367.44
	STEELCASE				
	Tag For	03. Rooms 109 & 110 - BD Reception CW			
50	/ Kick applica	P - Filler-Flush steel front pedestal, Technology / Answer ation PLATINUM METALLIC	2	29.65	59.30
	STEELCASE				
	Tag For	03. Rooms 109 & 110 - BD Reception PF			
51	x 15W x 27H	- Pedestal-Fixed, 2 box / 1 file, Flush steel front, 22 5/8D	6	292.62	1,755.72
	LOCK: 9201 POLISHED CHROME				
	KEYS: SK R	AND			
	DWR OPT: *	OPT:DRAWER FEATURE OPTIONS			
	FULL DWR:	STD:FULL DRAWER			
	PULLS: *OP	T:PULL OPTIONS			
	INT PULL: S	STD:INTEGRAL J, PULL			
	LOCK OPT:	*OPT:LOCK OPTIONS			
	SINGLELK:	STD:SINGLE LOCK			
	STEELCASE	<u>:</u>			
	Tag For	03. Rooms 109 & 110 - BD Reception BBF/15			
52	465A300 - Th	hink; Chair, 3D knit	3	679.70	2,039.10
	COLOR SCH	HEME: MONOCHROMATIC			
	FRAME FINI METALLIC	SH: SMOOTH METALLIC 4799 - PLATINUM			
		CK FINISH: PLASTIC - PG1 6249 - PLATINUM SOLIE			
		H: 3D KNIT 5054 - CANARY			
		H: STAND IN 5626 - CHARDONNAY			
	CYLINDER 1	「YPE : STANDARD RANGE			

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

Quote authorized by:

Peter Gaslow - Pesident
Empire Office Inc.

BASE TYPE: PLASTIC BASE

METALLIC

METALLIC

BASE FINISH: SMOOTH METALLIC 4799 - PLATINUM

ARM TYPE: HEIGHT, WIDTH, PIVOT, DEPTH ARM **ARMS FINISH:** SMOOTH METALLIC 4799 - PLATINUM

CASTER OR GLIDE TYPE: HARD CASTERS LUMBAR OPTION: ADJUSTABLE LUMBAR

ACCEPTED BY:	
	DATE:



Peter Gaslow - F

Empire Office, Inc.

esident

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 **Quotation - 454955** Page 13 / 43 (cont'd)

Description Quantity **Unit Price Extended Price** 52 **HEADREST OPTION: NO HEADREST COAT HANGER: NO COAT HANGER PACKAGING: NOT APPLICABLE SOIL RETARDANT OPTION: NO SOIL RETARDANT STEELCASE Tag For** 03. Rooms 109 & 110 - BD Reception THINK 53 9 799.50 7,195.50 N65EEP - AURORA, GUEST, UPHOLSTERED BACK, POWDER **UPHOLSTERY GRADE: DTK: DESIGNTEX GRADE K** 3048_401: PARTICLE COMET **PAINT COLOR: 501: PLATINUM METALLIC** KIMBALL OF **Tag For** 03. Rooms 109 & 110 - BD Reception N65EEP 54 1 725.35 725.35 N32T2424ENL - RENO,24DX24W,END TABLE,SQUARE,LAMINATE SURFACE GROMMET: X: NO SURFACE GROMMET SIDE GROMMET: X: NO SIDE GROMMET LAMINATE: **G1002: PLANKED RAW OAK PAINT: 501: PLATINUM METALLIC** KIMBALL OF Tag For 03. Rooms 109 & 110 - BD Reception **T2424ENL** 3 37.28 111.84 55 AWAG2 - Grommet-Round, 2 1/2 dia **GROMMET: 0835 BLACK STEELCASE Tag For** 03. Rooms 109 & 110 - BD Reception GR **Sub Total** 20,369.57 20,369.57 **Total** 04. Room 107 - Open Office

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

ACCEPTED BY:__



Peter Gaslow - Fesident Empire Office Inc.

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094

ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955 Page 14 / 43 (cont'd)

Desc	ription	Quantity	Unit Price	Extended Price
56	TS724THF - Frame, Horizontal package, Thin, 24W	1	37.69	37.69
	BASIC: 4799 PLATINUM METALLIC			
	TC OPT: *OPT:TOP CAP OPTIONS			
	STD CAP: STD:STD TOP CAP			
	CABLEOPT: *OPT:CABLE TRAY OPTION			
	NO TRAY: NO CABLE TRAY			
	BASE OPT: *OPT:BASE TRIM OPTIONS			
	KO BOTH: STD:KNOCKOUT BASE BOTH SIDES			
	TRAY OPT: *OPT:BASE TRAY OPTION			
	NO TRAY: NO BASE TRAY			
	STEELCASE			
	Tag For 04. Room 107 - Open Office 24/66			
57	TS736THF - Frame, Horizontal package, Thin, 36W	24	42.12	1,010.88
	BASIC: 4799 PLATINUM METALLIC			
	TC OPT: *OPT:TOP CAP OPTIONS			
	STD CAP: STD:STD TOP CAP			
	CABLEOPT: *OPT:CABLE TRAY OPTION			
	NO TRAY: NO CABLE TRAY			
	BASE OPT: *OPT:BASE TRIM OPTIONS			
	KO BOTH: STD:KNOCKOUT BASE BOTH SIDES			
	TRAY OPT: *OPT:BASE TRAY OPTION			
	NO TRAY: NO BASE TRAY			
	STEELCASE			
	Tag For 04. Room 107 - Open Office 36/66			
58	TS742THF - Frame, Horizontal package, Thin, 42W	3	47.94	143.82
	BASIC: 4799 PLATINUM METALLIC			
	TC OPT: *OPT:TOP CAP OPTIONS			
	STD CAP: STD:STD TOP CAP			
	CABLEOPT: *OPT:CABLE TRAY OPTION			
	NO TRAY: NO CABLE TRAY			
	BASE OPT: *OPT:BASE TRIM OPTIONS			
	KO BOTH: STD:KNOCKOUT BASE BOTH SIDES			
	TRAY OPT: *OPT:BASE TRAY OPTION			
	NO TRAY: NO BASE TRAY			
	STEELCASE			

ACCEPTED BY:___



Peter Gaslow - President Empire Office Inc.

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 **Quotation - 454955** Page 15 / 43 (cont'd)

Desc	cription		Quantity	Unit Price	Extended Price
58	Tag For	04. Room 107 - Open Office 42/66			
59	TS748THF - Frame, Horizontal package, Thin, 48W BASIC: 4799 PLATINUM METALLIC		1	50.16	50.16
	TC OPT: *OPT:TOP CAP OPTIONS				
	STD CAP: S	STD CAP: STD:STD TOP CAP			
	CABLEOPT:	*OPT:CABLE TRAY OPTION			
	NO TRAY:	NO CABLE TRAY			
	BASE OPT:	*OPT:BASE TRIM OPTIONS			
	ко вотн:	STD:KNOCKOUT BASE BOTH SIDES			
	TRAY OPT:	*OPT:BASE TRAY OPTION			
	NO TRAY:	NO BASE TRAY			
	STEELCASE				
	Tag For	04. Room 107 - Open Office 48/66			
60	TS730THF -	Frame-Horizontal package, Thin, 30W	13	40.18	522.34
	BASIC: 4799 PLATINUM METALLIC				
	TC OPT: *OPT:TOP CAP OPTIONS				
	STD CAP: S	STD:STD TOP CAP			
	CABLEOPT:	*OPT:CABLE TRAY OPTION			
	NO TRAY:	NO CABLE TRAY			
	BASE OPT:	*OPT:BASE TRIM OPTIONS			
	ко вотн: 3	STD:KNOCKOUT BASE BOTH SIDES			
	TRAY OPT:	*OPT:BASE TRAY OPTION			
	NO TRAY:	NO BASE TRAY			
	STEELCASE				
	Tag For	04. Room 107 - Open Office 30/66			
61	TS766TEPJ	- Junction-End of run, Thin, 66H	17	47.38	805.46
	TRIM: *OPT:	TRIM PACKAGE			
	PAINT: PAII	PAINT: PAINTED TRIM PKG			
	UPRIGHT:	UPRIGHT: UPRIGHT			
	METALLIC	METALLIC: *UPRIGHT:METALLIC PAINT			
	4799 : PLA	TINUM METALLIC			
	STEELCASE				
	Tag For	04. Room 107 - Open Office E66			
62	TS766TIPJ -	Junction-In line, Thin, 66H	16	30.48	487.68

ACCEPTED BY:_



110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 **Quotation - 454955** Page 16 / 43 (cont'd)

			,		
Desc	cription		Quantity	Unit Price	Extended Price
62	STEELCASE				
	Tag For	04. Room 107 - Open Office I66			
63	TS766TLPJ	- Junction-L, Thin, 66H	10	71.49	714.90
	TRIM: *OPT:	TRIM PACKAGE			
	PAINT: PAIN	NTED TRIM PKG			
	UPRIGHT:	UPRIGHT			
	METALLIC	: *UPRIGHT:METALLIC PAINT			
	4799 : PLA	TINUM METALLIC			
	STEELCASE				
	Tag For	04. Room 107 - Open Office L66			
64		- Junction-T, Thin, 66H	2	71.49	142.98
		TRIM PACKAGE			
	PAINT: PAINTED TRIM PKG				
	UPRIGHT: UPRIGHT				
	METALLIC: *UPRIGHT:METALLIC PAINT				
		TINUM METALLIC			
	STEELCASE Tag For	04. Room 107 - Open Office T66			
65	TS766WPJ - STEELCASE	Junction-Wall start, 66H	1	89.50	89.50
	Tag For	04. Room 107 - Open Office WS66			
66	TS766TXPJ	- Junction-X, Thin, 66H	2	71.49	142.98
	TRIM: *OPT:	TRIM PACKAGE			
	PAINT: PAIN	NTED TRIM PKG			
	UPRIGHT:	UPRIGHT			
	METALLIC	: *UPRIGHT:METALLIC PAINT			
	4799 : PLA	TINUM METALLIC			
	STEELCASE				
	Tag For	04. Room 107 - Open Office X66			
67		- Panel skin-Tackable acoustical, 60H x 24W P543 SEAGLASS	1	86.18	86.18
	FAB DIR: *O	PT:FABRIC DIRECTION			

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

Quote authorized by:

Peter Gaslow - Bresident
Empire Office Inc.

HORZ: STD:HORIZONTAL APPLICATION



Peter Gaslow - Fesident Empire Office Inc.

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094

ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 **Quotation - 454955** Page 17 / 43 (cont'd)

Desc	cription	Quantity	Unit Price	Extended Price
67	STEELCASE Tag For 04. Room 107 - Open Office			
68	TS76030TK - Panel skin-Tackable acoustical, 60H x 30W SURFACE: P543 SEAGLASS	16	90.61	1,449.76
	FAB DIR: *OPT:FABRIC DIRECTION			
	HORZ: STD:HORIZONTAL APPLICATION			
	STEELCASE Tag For 04. Room 107 - Open Office			
69	TS76036TK - Panel skin-Tackable acoustical, 60H x 36W SURFACE: P543 SEAGLASS	38	95.88	3,643.44
	FAB DIR: *OPT:FABRIC DIRECTION			
	HORZ: STD:HORIZONTAL APPLICATION			
	STEELCASE			
	Tag For 04. Room 107 - Open Office			
70	TS76042TK - Panel skin-Tackable acoustical, 60H x 42W	6	103.08	618.48
	SURFACE: P543 SEAGLASS			
	FAB DIR: *OPT:FABRIC DIRECTION			
	HORZ: STD:HORIZONTAL APPLICATION			
	STEELCASE Tag For 04. Room 107 - Open Office			
	· · · · · · · · · · · · · · · · · · ·			
71	TS76048LS - Skin, Laminate, 60H x 48W	1	254.65	254.65
	SURFACE: 2HBW BISQUE WENGE (HPL)			
	TRIM: 4799 PLATINUM METALLIC			
	GRAINDIR: *OPT:GRAIN DIRECTION			
	VERT: STD:VERTICAL			
	STEELCASE Tag For 04. Room 107 - Open Office			
72	UFB - Bracket-Flush mount STEELCASE	4	11.08	44.32
	Tag For 04. Room 107 - Open Office FMB			
73	USSBR - Bracket-Side support STEELCASE	6	16.07	96.42
	Tag For 04. Room 107 - Open Office SS			
74	UCANT - Cantilever, On module application, 16W x 13D	6	44.89	269.34
	BASIC: 4743 MINERAL METALLIC			

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

ACCEPTED BY:___



Peter Gaslow - President Empire Office Inc.

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 **Quotation - 454955** Page 18 / 43 (cont'd)

Desci	ription		Quantity	Unit Price	Extended Price
74	STEELCASE				
	Tag For	04. Room 107 - Open Office CANT			
75	application, 3	/S - Leg-Universal, Left hand, Open, Answer 0D PLATINUM METALLIC	1	188.98	188.98
	STEELCASE				
	Tag For	04. Room 107 - Open Office OL/30			
76	application, 3	IS - Leg-Universal, Right hand, Open, Answer 0D PLATINUM METALLIC	3	188.98	566.94
	STEELCASE				
	Tag For	04. Room 107 - Open Office OL/30			
81	TS7WKSPT5	i 1 - Reinforcing channel, 51W	3	21.06	63.18
	STEELCASE				
	Tag For	04. Room 107 - Open Office RC/51			
82	TS7WKSPT5 STEELCASE	54 - Reinforcing channel, 54W	7	21.06	147.42
	Tag For	04. Room 107 - Open Office RC/54			
83		nterweight-Pedestal	20	61.24	1,224.80
	STEELCASE Tag For	04. Room 107 - Open Office CW			
84	x 15W x 27H	- Pedestal-Fixed, 2 box / 1 file, Flush steel front, 17 1/2D	1	269.62	269.62
		POLISHED CHROME			
	KEYS: SK PL				
		OPT:DRAWER FEATURE OPTIONS			
	FULL DWR: STD:FULL DRAWER PULLS: *OPT:PULL OPTIONS				
	INT PULL: STD:INTEGRAL J, PULL LOCK OPT: *OPT:LOCK OPTIONS				
		STD:SINGLE LOCK			
	STEELCASE				
	Tag For	04. Room 107 - Open Office BBF/15			

ACCEPTED BY:__

DATE:_

TITLE::__



METALLIC

Peter Gaslow - President Empire Office Inc.

Quote authorized by:

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955 Page 19 / 43 (cont'd)

Desc	cription		Quantity	Unit Price	Extended Price
85	x 15W x 27H	Pedestal-Fixed, 2 box / 1 file, Flush steel front, 22 5/8D	9	292.62	2,633.58
		PLATINUM METALLIC			
		POLISHED CHROME			
	KEYS: SK PL				
	DWR OPT: *C	OPT:DRAWER FEATURE OPTIONS			
	FULL DWR:	STD:FULL DRAWER			
	PULLS: *OPT	T:PULL OPTIONS			
	INT PULL: S	TD:INTEGRAL J, PULL			
	LOCK OPT: *	OPT:LOCK OPTIONS			
	SINGLELK:	STD:SINGLE LOCK			
	STEELCASE				
	Tag For	04. Room 107 - Open Office BBF/15			
86	x 15W x 27H	Pedestal-Fixed, 2 box / 1 file, Flush steel front, 28 5/8D PLATINUM METALLIC	10	348.04	3,480.40
	LOCK: 9201 I	POLISHED CHROME			
	KEYS: SK PL	UG			
	DWR OPT: *C	OPT:DRAWER FEATURE OPTIONS			
	FULL DWR:	STD:FULL DRAWER			
	PULLS: *OPT	T:PULL OPTIONS			
	INT PULL: S	TD:INTEGRAL J, PULL			
		OPT:LOCK OPTIONS			
		STD:SINGLE LOCK			
	STEELCASE				
	Tag For	04. Room 107 - Open Office BBF/15			
87	465A300 - Th	ink; Chair, 3D knit	10	679.70	6,797.00
	COLOR SCH	EME: MONOCHROMATIC			
	METALLIC	SH: SMOOTH METALLIC 4799 - PLATINUM K FINISH: PLASTIC - PG1 6249 - PLATINUM SOLIE			
	BACK FINISH	H: 3D KNIT 5054 - CANARY			
		I: STAND IN 5626 - CHARDONNAY			
		YPE: STANDARD RANGE			
		PLASTIC BASE			
		I: SMOOTH METALLIC 4799 - PLATINUM			

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

ACCEPTED BY:____

_ DATE:_



Peter Gaslow - Fesident Empire Office Inc.

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 **Quotation - 454955** Page 20 / 43 (cont'd)

Desc	ription		Quantity	Unit Price	Extended Price
87	CASTER OF	R GLIDE TYPE: HARD CASTERS			
		PTION: ADJUSTABLE LUMBAR			
		OPTION: NO HEADREST			
	_	GER: NO COAT HANGER			
		G: NOT APPLICABLE			
		RDANT OPTION: NO SOIL RETARDANT			
	STEELCASE				
	Tag For	- 04. Room 107 - Open Office THINK			
88	TS7PK30X -	Kit-Power, 3+1, 30W	3	86.18	258.54
	Tag For	04. Room 107 - Open Office PK/30			
89	TS7PK42X -	· Kit-Power, 3+1, 42W	3	86.18	258.54
	STEELCASE	_			
	Tag For	04. Room 107 - Open Office PK/42			
90	TS76048TK	- Panel skin-Tackable acoustical, 60H x 48W	1	117.77	117.77
	SURFACE: P543 SEAGLASS				
	FAB DIR: *C	OPT:FABRIC DIRECTION			
	HORZ: STD	:HORIZONTAL APPLICATION			
	STEELCASE	≣			
	Tag For	04. Room 107 - Open Office			
91	TS76BPX -	Power infeed, 3+1, 6L in ft	1	107.51	107.51
	PLASTIC: 6	654 SAND			
	STEELCASE	Ē			
	Tag For	04. Room 107 - Open Office BPI/6			
92	TS71SSX - F	Receptacle-System ground, Line 1, 3+1	6	17.46	104.76
	PLASTIC: 6	654 SAND			
	CSTMPOPT	: *OPT:CONTROLLED STAMP OPTION			
	NOSTAMP:	STD:NO STAMP			
	STEELCASE				
	Tag For	04. Room 107 - Open Office			
93	TS72SSX - F	Receptacle-System ground, Line 2, 3+1	6	17.46	104.76
	PLASTIC: 6	654 SAND			
	CSTMPOPT	: *OPT:CONTROLLED STAMP OPTION			
	NOSTAMP:	STD:NO STAMP			

ACCEPTED BY:___



110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 **Quotation - 454955** Page 21 / 43 (cont'd)

Desc	ription		Quantity	Unit Price	Extended Price
93	STEELCASE Tag For	04. Room 107 - Open Office			
94	SURFACE: 2 TRIM: 4799 F	Skin, Laminate, 60H x 24W HBW BISQUE WENGE (HPL) PLATINUM METALLIC OPT:GRAIN DIRECTION VERTICAL	1	198.40	198.40
	STEELCASE Tag For	04. Room 107 - Open Office			
95	SURFACE : 2 TRIM : 4799 F		10	207.82	2,078.20
96	SURFACE : 2 TRIM : 4799 F		10	220.02	2,200.20
97	UFP - Leg-Ur BASIC: 4799 STEELCASE Tag For	PLATINUM METALLIC	4	78.97	315.88
98	USWS - Work	ksurface-Straight, Laminate, Plastic edge profile	10	95.88	958.80

DEPTH: 24.00000 **WIDTH:** 42.00000

TOP SURFACE FINISH: WOODGRAIN HPL 2HBW - BISQUE

WENGE (HPL)

GRAIN DIRECTION: LONG GRAIN

EDGE FINISH: PLASTIC - PG1 6705 - BISQUE WENGE

POWER ACCESS: NO POWER ACCESS

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

Quote authorized by:		
2	eter Gaslow - F mpire Office Inc	esident

ACCEPTED BY:	
TITLE::	DATE:



110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955 Page 22 / 43 (cont'd)

Description Quantity **Unit Price Extended Price** 98 **SCALLOP: WITH SCALLOP GROMMET: NO GROMMET** CORD DROP: NO CORD DROP **STEELCASE Tag For** 04. Room 107 - Open Office 24/42 99 USWS - Worksurface-Straight, Laminate, Plastic edge profile 144.37 144.37 **SIZE OPTION: PARAMETRIC DEPTH: 28.00000** WIDTH: 69.00000 TOP SURFACE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) **GRAIN DIRECTION: LONG GRAIN** EDGE FINISH: PLASTIC - PG1 6705 - BISQUE WENGE **POWER ACCESS: NO POWER ACCESS SCALLOP: NO SCALLOP GROMMET: NO GROMMET** CORD DROP: NO CORD DROP **STEELCASE Tag For** 04. Room 107 - Open Office 28/69 10 198.68 1.986.80 100 USWS - Worksurface-Straight, Laminate, Plastic edge profile **SIZE OPTION: MODULAR DEPTH:** 30.00000 WIDTH: 72.00000 TOP SURFACE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) **GRAIN DIRECTION: LONG GRAIN** EDGE FINISH: PLASTIC - PG1 6705 - BISQUE WENGE **POWER ACCESS: NO POWER ACCESS SCALLOP: WITH SCALLOP GROMMET: NO GROMMET** CORD DROP: NO CORD DROP **STEELCASE Tag For** 04. Room 107 - Open Office 30/72 **Sub Total** 34,817.43

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

Quote authorized by:

Deter Gaslow - Hesident
Empire Office Inc.

Total

ACCEPTED BY:_______ DATE:______

34.817.43



Peter Gaslow - F

Empire Office Inc.

esident

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955 Page 23 / 43 (cont'd)

Description Quantity **Unit Price Extended Price** 05. Room 105 - Office 1 101 CRMP2HBBF - Pedestal-2-High, Box/Box/File, Mobile 600.34 600.34 **SIZE OPTION: MODULAR DEPTH: 22.00000** CASE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) **HEADSET FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE** TOP SURFACE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) EDGE FINISH: PLASTIC - PG1 6705 - BISQUE WENGE LOCK FINISH: POLISHED CHROME 9201 - POLISHED **CHROME KEYS: KEY PLUG PULL: LEDGE** PULL FINISH: SMOOTH METALLIC 4799 - PLATINUM **METALLIC COUNTERWEIGHT: WITH COUNTERWEIGHT STEELCASE** Tag For 05. Room 105 - Office 1 **BBF/22** 104 1 209.68 209.68 CRCT - Common Top, Worksurface **DEPTH:** 18.75000 WIDTH: 86.00000 TOP SURFACE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) EDGE FINISH: PLASTIC - PG1 6705 - BISQUE WENGE **WORKSURFACE THICKNESS: 1.12500 GROMMET LOCATION: NO GROMMET STEELCASE Tag For** 05. Room 105 - Office 1 CT/18.75/86 107 2 676.30 1,352.60 CRL2H - Lateral 2 High File/File **SIZE OPTION: MODULAR DEPTH:** 18.87500 WIDTH: 30.00000 TOP: NO TOP **APPLICATION: FULL** CASE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL)

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

ACCEPTED BY:___



110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955Page 24 / 43 (cont'd)

Unit Price Description Quantity **Extended Price** 107 HEADSET FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) **PULL: LEDGE** PULL FINISH: SMOOTH METALLIC 4799 - PLATINUM METALLIC LOCK FINISH: POLISHED CHROME 9201 - POLISHED **CHROME KEYS: KEY PLUG COUNTERWEIGHT: WITH COUNTERWEIGHT STEELCASE Tag For** 05. Room 105 - Office 1 LF/30/FF 732.05 732.05 108 1 CRL2H - Lateral 2 High File/File **SIZE OPTION: MODULAR DEPTH:** 18.87500 WIDTH: 30.00000 TOP: WITH TOP **APPLICATION: FULL WORKSURFACE THICKNESS: 1.12500** CASE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE **HEADSET FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE** (HPL) TOP SURFACE FINISH: WOODGRAIN LPL 2LBW - BISQUE WENGE (LPL) EDGE FINISH: PLASTIC - PG1 6705 - BISQUE WENGE **PULL: LEDGE** PULL FINISH: SMOOTH METALLIC 4799 - PLATINUM **METALLIC** LOCK FINISH: POLISHED CHROME 9201 - POLISHED **CHROME KEYS: KEY PLUG COUNTERWEIGHT: WITH COUNTERWEIGHT STEELCASE Tag For** 05. Room 105 - Office 1 LF/30/FF

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

Quote authorized by:_

METALLIC

STEELCASE

109

1/2/	1
Peter Gaslow - F	
Empire Office, In	c.

BASE FINISH: SMOOTH METALLIC 4799 - PLATINUM

CRSQB - Base, Square Leg

LEG HEIGHT: 28.00000

ACCEPTED BY:		
TITLE::	DATE:	

92.11

92.11



Peter Gaslow - Fesident Empire Office Inc.

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094

ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955 Page 25 / 43 (cont'd)

Desci	ription		Quantity	Unit Price	Extended Price
109	Tag For	05. Room 105 - Office 1 SL/28			
110	475412M - F	Player; Chair-Leg base, Smooth arms, Glides	2	270.47	540.94
	PR. GRP. 8 THE DES PURCHA PATTERI COLOR: DIRECTI	SH: GRADED-IN PRC GRP 08 59DH - GRADED IN SIGNTEX GROUP USER: VENDOR N: PARTICLE -3048 COMET -401 ON: VERTICAL ISH: POLYPROPYLENE 6249 - PLATINUM SOLID			
	SEAT FINIS	H: STAND IN 5626 - CHARDONNAY			
	BACK: UPH	STD BACK SET			
		STD SEAT SET			
	GLIDE: HAF				
		RDANT: NO SOIL RETARDANT TREATMENT			
	STEELCASE Tag For	= 05. Room 105 - Office 1 PLAYER			
111	465A300 - T	hink; Chair, 3D knit	1	679.70	679.70
	COLOR SCHEME: MONOCHROMATIC				
	METALLIC	ISH: SMOOTH METALLIC 4799 - PLATINUM CK FINISH: PLASTIC - PG1 6249 - PLATINUM SOLIC			
		SH: 3D KNIT 5054 - CANARY			
	SEAT FINIS	H: STAND IN 5626 - CHARDONNAY			
	CYLINDER	TYPE: STANDARD RANGE			
	BASE TYPE	:: PLASTIC BASE			
	METALLIC	R GLIDE TYPE: HARD CASTERS			
	LUMBAR O	PTION: ADJUSTABLE LUMBAR			
	HEADREST OPTION: NO HEADREST				
	COAT HANGER: NO COAT HANGER				
	PACKAGIN	G: NOT APPLICABLE			
	SOIL RETAI	RDANT OPTION: NO SOIL RETARDANT			
	STEELCASE				
	Tag For	05. Room 105 - Office 1 THINK			
112	CRBKS2H -	Bookcase- Stacking on2-High or Desk	1	439.55	439.55

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

ACCEPTED BY:___



Peter Gaslow - F

Empire Office, Inc.

esident

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 **Quotation - 454955** Page 26 / 43 (cont'd)

Description Quantity **Unit Price Extended Price** 112 SIZE OPTION: MODULAR **DEPTH:** 15.00000 WIDTH: 30.00000 **APPLICATION HEIGHT: 72.00000 BOOKCASE HEIGHT: 43.54724 WORKSURFACE THICKNESS: 1.12500** CASE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) **TOP SURFACE TYPE: LOW PRESSURE LAMINATE STEELCASE** Tag For 05. Room 105 - Office 1 BC/72/30 113 UFB - Bracket-Flush mount 2 11.08 22.16 **STEELCASE Tag For** 05. Room 105 - Office 1 **BRKT** 114 AWAG2 - Grommet-Round, 2 1/2 dia 1 37.28 37.28 **GROMMET: 0835 BLACK STEELCASE** Tag For 05. Room 105 - Office 1 GR 1 21.06 21.06 115 TS7WKSPT66 - Reinforcing channel, 66W **STEELCASE Tag For** 05. Room 105 - Office 1 RC 116 1 93.32 93.32 CRCT - Common Top, Worksurface **DEPTH: 24.00000** WIDTH: 42.00000 TOP SURFACE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) EDGE FINISH: PLASTIC - PG1 6705 - BISQUE WENGE **WORKSURFACE THICKNESS: 1.12500 GROMMET LOCATION: NO GROMMET STEELCASE** Tag For 05. Room 105 - Office 1 CT/24/42 117 547.42 547.42 CRDSHLO - Desk- Shell,6" Overhang **SIZE OPTION: MODULAR DEPTH: 36.00000**

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

ACCEPTED BY:__



110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955Page 27 / 43 (cont'd)

Description Quantity **Unit Price Extended Price** 117 WIDTH: 72.00000 **SUPPORT - RIGHT: FULL DEPTH END PANEL SUPPORT - LEFT: FULL DEPTH END PANEL MODESTY PANEL: FULL** CASE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE TOP SURFACE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) EDGE FINISH: PLASTIC - PG1 6705 - BISQUE WENGE **GROMMET LOCATION: NO GROMMET WORKSURFACE THICKNESS: 1.12500 STEELCASE Tag For** 05. Room 105 - Office 1 36/72 **Sub Total** 5,368.21 **Total** 5,368.21 06. Room 108 - Office 2 118 CROHHD - Overhead- Hinged Doors 647.61 647.61 **SIZE OPTION: PARAMETRIC** WIDTH: 58,00000 ATTACHMENT BRACKETS: WALL MOUNT BRACKETS CASE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) HEADSET FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE LOCK FINISH: POLISHED CHROME 9201 - POLISHED **CHROME KEYS: KEY PLUG STEELCASE Tag For** 06. Room 108 - Office 2 OH/58.0000/15 119 600.34 1 600.34 CRMP2HBBF - Pedestal-2-High, Box/Box/File, Mobile **SIZE OPTION: MODULAR DEPTH: 22.00000** CASE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) HEADSET FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

Quote authorized by:__

(HPL)

WENGE (HPL)

Peter Gaslow - Fresident Empire Office Inc.

TOP SURFACE FINISH: WOODGRAIN HPL 2HBW - BISQUE

EDGE FINISH: PLASTIC - PG1 6705 - BISQUE WENGE



110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955Page 28 / 43 (cont'd)

Description Quantity **Unit Price Extended Price** 119 LOCK FINISH: POLISHED CHROME 9201 - POLISHED **CHROME KEYS: KEY PLUG PULL: LEDGE PULL FINISH: SMOOTH METALLIC 4799 - PLATINUM METALLIC COUNTERWEIGHT: WITH COUNTERWEIGHT STEELCASE Tag For** 06. Room 108 - Office 2 **BBF/22** 123 1 547.42 547.42 CRDSHLO - Desk- Shell,6" Overhang **SIZE OPTION: MODULAR DEPTH: 36.00000** WIDTH: 72.00000 **SUPPORT - RIGHT: FULL DEPTH END PANEL SUPPORT - LEFT: FULL DEPTH END PANEL MODESTY PANEL: FULL** CASE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) TOP SURFACE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) EDGE FINISH: PLASTIC - PG1 6705 - BISQUE WENGE **GROMMET LOCATION: NO GROMMET WORKSURFACE THICKNESS: 1.12500 STEELCASE** Tag For 06. Room 108 - Office 2 36/72 771.24 771.24 124 CRL2H - Lateral 2 High File/File **SIZE OPTION: MODULAR DEPTH:** 18.87500 WIDTH: 36.00000 TOP: WITH TOP **APPLICATION: FULL WORKSURFACE THICKNESS: 1.12500** CASE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

Quote authorized by:_

(HPL)

(HPL)

WENGE (LPL)

Peter Gaslow - President Empire Office Inc.

HEADSET FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE

TOP SURFACE FINISH: WOODGRAIN LPL 2LBW - BISQUE

EDGE FINISH: PLASTIC - PG1 6705 - BISQUE WENGE



Peter Gaslow - Fesident Empire Office Inc.

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955 Page 29 / 43 (cont'd)

Desci	ription		Quantity	Unit Price	Extended Price
124	PULL: LEDG	E			
	PULL FINISH METALLIC	: SMOOTH METALLIC 4799 - PLATINUM			
	_	H: POLISHED CHROME 9201 - POLISHED			
	CHROME				
	KEYS: KEY F				
		EIGHT: WITH COUNTERWEIGHT			
	STEELCASE	00 Days 400 Office 0			
	Tag For	06. Room 108 - Office 2 LF/36/FF			
126	475412M - Pl	ayer; Chair-Leg base, Smooth arms, Glides	2	270.47	540.94
		H: GRADED-IN PRC GRP 08 59DH - GRADED IN			
	PR. GRP. 8 THE DESI	GNTEX GROUP			
		SER: VENDOR			
	—	: PARTICLE -3048 COMET -401			
		N: VERTICAL			
	FRAME FINIS	SH: POLYPROPYLENE 6249 - PLATINUM SOLID			
	SEAT FINISH	I: STAND IN 5626 - CHARDONNAY			
	BACK: UPH	STD BACK SET			
	SEAT: UPH S	STD SEAT SET			
	GLIDE: HARI	O GLIDES			
	SOIL RETAR	DANT: NO SOIL RETARDANT TREATMENT			
	STEELCASE				
	Tag For	06. Room 108 - Office 2 PLAYER			
127	465A300 - Th	ink; Chair, 3D knit	1	679.70	679.70
	COLOR SCH	EME: MONOCHROMATIC			
	FRAME FINIS METALLIC	SH: SMOOTH METALLIC 4799 - PLATINUM			
	OUTER BAC	K FINISH: PLASTIC - PG1 6249 - PLATINUM SOLIC			
	BACK FINISH	1 : 3D KNIT 5054 - CANARY			
	SEAT FINISH	I: STAND IN 5626 - CHARDONNAY			
	CYLINDER T	YPE: STANDARD RANGE			
	BASE TYPE:	PLASTIC BASE			
	BASE FINISH METALLIC	I: SMOOTH METALLIC 4799 - PLATINUM			
	CASTER OR	GLIDE TYPE: HARD CASTERS			
	LUMBAR OP	TION: ADJUSTABLE LUMBAR			
	HEADREST (OPTION: NO HEADREST			
Prices w	ill be held for 30 o	days but are subject to increase by manufacturer. Please be adv	rised that this quote may no	t include applicable sale	es and use tax.

ACCEPTED BY:____

_ DATE:_



Peter Gaslow - President Empire Office Inc.

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 **Quotation - 454955** Page 30 / 43 (cont'd)

Desci	ription		Quantity	Unit Price	Extended Price
407					
127		ER: NO COAT HANGER			
		: NOT APPLICABLE			
		DANT OPTION: NO SOIL RETARDANT			
	STEELCASE	00 D 400 Off 0			
	Tag For	06. Room 108 - Office 2 THINK			
128	CRPD2HFF -	Pedestal-2-High,File/File	1	513.89	513.89
	SIZE OPTION	I: MODULAR			
	DEPTH: 24.00	0000			
	(HPL)	I: WOODGRAIN HPL 2HBW - BISQUE WENGE NISH: WOODGRAIN HPL 2HBW - BISQUE WENGE			
	(HPL) LOCK FINISH CHROME	I: POLISHED CHROME 9201 - POLISHED			
	KEYS: KEY P				
	PULL: LEDGI				
	METALLIC	: SMOOTH METALLIC 4799 - PLATINUM EIGHT: WITH COUNTERWEIGHT			
	STEELCASE				
	Tag For	06. Room 108 - Office 2 FF/24			
129	UFB - Bracke	t-Flush mount	1	11.08	11.08
	STEELCASE				
	Tag For	06. Room 108 - Office 2 BRKT			
130	AWAG2 - Gro	ommet-Round, 2 1/2 dia	1	37.28	37.28
	GROMMET: (0835 BLACK			
	STEELCASE				
	Tag For	06. Room 108 - Office 2 GR			
131	TS7WKSPT6	6 - Reinforcing channel, 66W	1	21.06	21.06
	STEELCASE				
	Tag For	06. Room 108 - Office 2 RC			
132	CRCT - Comr	non Top, Worksurface	1	118.78	118.78
	DEPTH: 24.00	0000			
	WIDTH: 58.00	0000			
		CE FINISH: WOODGRAIN HPL 2HBW - BISQUE			
Prices w	ill be held for 30 d	days but are subject to increase by manufacturer. Please be adv	ised that this quote may no	t include applicable sa	les and use tax.

ACCEPTED BY:__



110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955Page 31 / 43 (cont'd)

Description Quantity **Unit Price Extended Price** 132 EDGE FINISH: PLASTIC - PG1 6705 - BISQUE WENGE **WORKSURFACE THICKNESS: 1.12500 GROMMET LOCATION: NO GROMMET STEELCASE Tag For** 06. Room 108 - Office 2 CT/24/58 **Sub Total** 4,489.34 **Total** 4,489.34 07. Room 134 - Office 3 133 1 594.28 594.28 CROHHD - Overhead- Hinged Doors **SIZE OPTION: PARAMETRIC** WIDTH: 52.00000 **ATTACHMENT BRACKETS: WALL MOUNT BRACKETS** CASE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) **HEADSET FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE** LOCK FINISH: POLISHED CHROME 9201 - POLISHED **CHROME KEYS: KEY PLUG STEELCASE Tag For** 07. Room 134 - Office 3 OH/52.0000/15 138 CRDSHLO - Desk- Shell,6" Overhang 1 547.42 547.42 **SIZE OPTION: MODULAR DEPTH: 36.00000** WIDTH: 72.00000 **SUPPORT - RIGHT: FULL DEPTH END PANEL SUPPORT - LEFT: FULL DEPTH END PANEL MODESTY PANEL: FULL** CASE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) TOP SURFACE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) EDGE FINISH: PLASTIC - PG1 6705 - BISQUE WENGE **GROMMET LOCATION: NO GROMMET WORKSURFACE THICKNESS: 1.12500 STEELCASE**

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

36/72

07. Room 134 - Office 3

Tag For



Peter Gaslow - Fesident Empire Office Inc.

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094

ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955 Page 32 / 43 (cont'd)

Desci	ription		Quantity	Unit Price	Extended Price
139	CRL2H - Late SIZE OPTION DEPTH: 18.8		1	771.24	771.24
	WIDTH: 36.0				
	TOP: WITH T				
	APPLICATIO				
		ACE THICKNESS: 1.12500			
	(HPL) HEADSET FI (HPL) TOP SURFACE WENGE (LPL	H: WOODGRAIN HPL 2HBW - BISQUE WENGE NISH: WOODGRAIN HPL 2HBW - BISQUE WENGE CE FINISH: WOODGRAIN LPL 2LBW - BISQUE -) H: PLASTIC - PG1 6705 - BISQUE WENGE			
	PULL: LEDG	E			
	METALLIC	I: SMOOTH METALLIC 4799 - PLATINUM I: POLISHED CHROME 9201 - POLISHED PLUG			
		EIGHT: WITH COUNTERWEIGHT			
	STEELCASE				
	Tag For	07. Room 134 - Office 3 LF/36/FF			
140	475412M - Pl	ayer; Chair-Leg base, Smooth arms, Glides	2	270.47	540.94
	BACK FINISH: GRADED-IN PRC GRP 08 59DH - GRADED IN PR. GRP. 8 THE DESIGNTEX GROUP PURCHASER: VENDOR PATTERN: PARTICLE -3048 COLOR: COMET -401 DIRECTION: VERTICAL FRAME FINISH: POLYPROPYLENE 6249 - PLATINUM SOLID				
	SEAT FINISH: STAND IN 5626 - CHARDONNAY				
	BACK: UPH	BACK: UPH STD BACK SET			
	SEAT: UPH STD SEAT SET				
	GLIDE: HARI	D GLIDES			
	SOIL RETAR	DANT: NO SOIL RETARDANT TREATMENT			
	STEELCASE				
	Tag For	07. Room 134 - Office 3 PLAYER			

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

ACCEPTED BY:___



Peter Gaslow - Fesident Empire Office Inc.

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094

ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955Page 33 / 43 (cont'd)

Desci	ription		Quantity	Unit Price	Extended Pric
141	465A300 - ⊺	hink; Chair, 3D knit	1	679.70	679.7
	COLOR SC	HEME: MONOCHROMATIC			
	FRAME FIN METALLIC	ISH: SMOOTH METALLIC 4799 - PLATINUM			
	OUTER BA	CK FINISH: PLASTIC - PG1 6249 - PLATINUM SOLIE			
	BACK FINIS	SH: 3D KNIT 5054 - CANARY			
	SEAT FINIS	SH: STAND IN 5626 - CHARDONNAY			
	CYLINDER	TYPE: STANDARD RANGE			
	BASE TYPE	E: PLASTIC BASE			
	BASE FINIS METALLIC	SH: SMOOTH METALLIC 4799 - PLATINUM			
	CASTER O	R GLIDE TYPE: HARD CASTERS			
	LUMBAR O	PTION: ADJUSTABLE LUMBAR			
	HEADREST	OPTION: NO HEADREST			
	COAT HAN	GER: NO COAT HANGER			
	PACKAGIN	G: NOT APPLICABLE			
	SOIL RETA	RDANT OPTION: NO SOIL RETARDANT			
	STEELCAS	E			
	Tag For	07. Room 134 - Office 3 THINK			
142	CRMP2HBE	BF - Pedestal-2-High,Box/Box/File, Mobile	1	600.34	600.3
	SIZE OPTIC	ON: MODULAR			
	DEPTH: 22.	00000			
	(HPL)	SH: WOODGRAIN HPL 2HBW - BISQUE WENGE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE			
	WENGE (H	ACE FINISH: WOODGRAIN HPL 2HBW - BISQUE PL) BH: PLASTIC - PG1 6705 - BISQUE WENGE			
		SH: POLISHED CHROME 9201 - POLISHED			
	PULL: LED				
	PULL FINIS METALLIC	H: SMOOTH METALLIC 4799 - PLATINUM			
		VEIGHT: WITH COUNTERWEIGHT			
	STEELCAS	07. Room 134 - Office 3 BBF/22			
143	CDDDAUEE	- Pedestal-2-High,File/File	1	513.89	513.8

ACCEPTED BY:___



110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 **Quotation - 454955** Page 34 / 43 (cont'd)

Desci	ription		Quantity	Unit Price	Extended Price
143	SIZE OPTION	N: MODULAR			
	DEPTH: 24.00000				
	CASE FINISH (HPL)	H: WOODGRAIN HPL 2HBW - BISQUE WENGE			
	, ,	NISH: WOODGRAIN HPL 2HBW - BISQUE WENGE			
	CHROME KEYS: KEY F	H: POLISHED CHROME 9201 - POLISHED			
	PULL: LEDG				
	PULL FINISH METALLIC	I: SMOOTH METALLIC 4799 - PLATINUM			
		EIGHT: WITH COUNTERWEIGHT			
	STEELCASE Tag For	07. Room 134 - Office 3 FF/24			
144	<i>UFB</i> - Bracke	t-Flush mount	1	11.08	11.08
	Tag For	07. Room 134 - Office 3 BRKT			
145	AWAG2 - Grommet-Round, 2 1/2 dia		1	37.28	37.28
	GROMMET: 0835 BLACK				
	STEELCASE				
	Tag For	07. Room 134 - Office 3 GR			
146	TS7WKSPT6	6 - Reinforcing channel, 66W	1	21.06	21.06
	Tag For	07. Room 134 - Office 3 RC			
147	CRCT - Common Top, Worksurface DEPTH: 24.00000		1	111.10	111.10
	WIDTH: 52.00000				
	TOP SURFACE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) EDGE FINISH: PLASTIC - PG1 6705 - BISQUE WENGE				
		ACE THICKNESS: 1.12500			
		.OCATION: NO GROMMET			
	STEELCASE Tag For	07. Room 134 - Office 3 CT/24/52			

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

Quote authorized by:	
Peter Gaslow - President	
Æmpire Office Mc	

ACCEPTED BY:	
TITLE…	DATE.



Peter Gaslow - Fesident Empire Office Inc.

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 **Quotation - 454955** Page 35 / 43 (cont'd)

Desc	ription		Quantity	Unit Price	Extended Price
Sub 1					4,428.33 4,428.33
08. R	Room 135 - Off	fice 4			
148	SIZE OPTION DEPTH: 22.0 CASE FINISH (HPL) HEADSET FI (HPL) TOP SURFACE WENGE (HPLE EDGE FINISH CHROME KEYS: KEY F PULL: LEDG PULL FINISH METALLIC	MISH: WOODGRAIN HPL 2HBW - BISQUE WENGE NISH: WOODGRAIN HPL 2HBW - BISQUE WENGE CE FINISH: WOODGRAIN HPL 2HBW - BISQUE -) H: PLASTIC - PG1 6705 - BISQUE WENGE H: POLISHED CHROME 9201 - POLISHED PLUG E I: SMOOTH METALLIC 4799 - PLATINUM EIGHT: WITH COUNTERWEIGHT 08. Room 135 - Office 4	1	600.34	600.34
150	UFB - Bracke STEELCASE Tag For	BBF/22 et-Flush mount 08. Room 135 - Office 4 FMB	1	11.08	11.08
152	DEPTH: 18.7 WIDTH: 86.00 TOP SURFACE WENGE (HPLEDGE FINISH WORKSURF	mon Top, Worksurface 5000 0000 CE FINISH: WOODGRAIN HPL 2HBW - BISQUE -) H: PLASTIC - PG1 6705 - BISQUE WENGE ACE THICKNESS: 1.12500 .OCATION: NO GROMMET	1	209.68	209.68
153	CRCT - Comr	mon Top, Worksurface	1	93.32	93.32

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

ACCEPTED BY:___



110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955 Page 36 / 43 (cont'd)

Description Quantity **Unit Price Extended Price** 153 WIDTH: 42.00000 TOP SURFACE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE (HPL) EDGE FINISH: PLASTIC - PG1 6705 - BISQUE WENGE **WORKSURFACE THICKNESS: 1.12500 GROMMET LOCATION: NO GROMMET STEELCASE Tag For** 08. Room 135 - Office 4 CT/24/42 155 CRL2H - Lateral 2 High File/File 2 676.30 1,352.60 **SIZE OPTION: MODULAR DEPTH:** 18.87500 WIDTH: 30.00000 TOP: NO TOP **APPLICATION: FULL** CASE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE **HEADSET FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE** (HPL) **PULL: LEDGE** PULL FINISH: SMOOTH METALLIC 4799 - PLATINUM METALLIC LOCK FINISH: POLISHED CHROME 9201 - POLISHED **CHROME KEYS: KEY PLUG COUNTERWEIGHT: WITH COUNTERWEIGHT STEELCASE Tag For** 08. Room 135 - Office 4 LF/30/FF 156 1 732.05 732.05 CRL2H - Lateral 2 High File/File **SIZE OPTION: MODULAR DEPTH:** 18.87500

TOP: WITH TOP

APPLICATION: FULL

WORKSURFACE THICKNESS: 1.12500

WIDTH: 30.00000

CASE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE

(HPL)

HEADSET FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE

(HPL)

TOP SURFACE FINISH: WOODGRAIN LPL 2LBW - BISQUE

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

Quote authorized by:	
Peter Gaslow - Fesident	
Empire Office Inc.	

ACCEPTED BY:_	
TITLE::	DATE:



110 HILLCREST ST ORLANDO, FL 32801 407-628-2400

BACK FINISH: 3D KNIT 5054 - CANARY

esident

Peter Gaslow - F

Empire Office, Inc.

Quote authorized by

2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955 Page 37 / 43 (cont'd)

Description Quantity **Unit Price Extended Price** 156 WENGE (LPL) EDGE FINISH: PLASTIC - PG1 6705 - BISQUE WENGE **PULL: LEDGE** PULL FINISH: SMOOTH METALLIC 4799 - PLATINUM **METALLIC** LOCK FINISH: POLISHED CHROME 9201 - POLISHED **CHROME KEYS: KEY PLUG COUNTERWEIGHT: WITH COUNTERWEIGHT STEELCASE** Tag For 08. Room 135 - Office 4 LF/30/FF 1 157 92.11 92.11 CRSQB - Base, Square Leg BASE FINISH: SMOOTH METALLIC 4799 - PLATINUM **METALLIC LEG HEIGHT: 28.00000 STEELCASE** 08. Room 135 - Office 4 Tag For **SL/28** 158 475412M - Player; Chair-Leg base, Smooth arms, Glides 2 270.47 540.94 BACK FINISH: GRADED-IN PRC GRP 08 59DH - GRADED IN PR. GRP. 8 THE DESIGNTEX GROUP PURCHASER: VENDOR PATTERN: PARTICLE -3048 COLOR: COMET -401 **DIRECTION: VERTICAL** FRAME FINISH: POLYPROPYLENE 6249 - PLATINUM SOLID **SEAT FINISH: STAND IN 5626 - CHARDONNAY BACK: UPH STD BACK SET SEAT: UPH STD SEAT SET GLIDE: HARD GLIDES SOIL RETARDANT: NO SOIL RETARDANT TREATMENT STEELCASE Tag For** 08. Room 135 - Office 4 **PLAYER** 679.70 679.70 159 465A300 - Think; Chair, 3D knit **COLOR SCHEME: MONOCHROMATIC** FRAME FINISH: SMOOTH METALLIC 4799 - PLATINUM **METALLIC OUTER BACK FINISH: PLASTIC - PG1 6249 - PLATINUM SOLIE**

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

ACCEPTED BY:__



Peter Gaslow - F

Empire Office Inc.

esident

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 **Quotation - 454955**Page 38 / 43 (cont'd)

Description Quantity **Unit Price Extended Price** 159 SEAT FINISH: STAND IN 5626 - CHARDONNAY **CYLINDER TYPE: STANDARD RANGE BASE TYPE: PLASTIC BASE** BASE FINISH: SMOOTH METALLIC 4799 - PLATINUM **METALLIC CASTER OR GLIDE TYPE: HARD CASTERS LUMBAR OPTION: ADJUSTABLE LUMBAR HEADREST OPTION: NO HEADREST COAT HANGER: NO COAT HANGER PACKAGING: NOT APPLICABLE SOIL RETARDANT OPTION: NO SOIL RETARDANT STEELCASE** Tag For 08. Room 135 - Office 4 THINK 160 CRBKS2H - Bookcase- Stacking on2-High or Desk 1 439.55 439.55 **SIZE OPTION: MODULAR DEPTH: 15.00000** WIDTH: 30.00000 **APPLICATION HEIGHT: 72.00000 BOOKCASE HEIGHT: 43.54724 WORKSURFACE THICKNESS: 1.12500** CASE FINISH: WOODGRAIN HPL 2HBW - BISQUE WENGE **TOP SURFACE TYPE: LOW PRESSURE LAMINATE STEELCASE Tag For** 08. Room 135 - Office 4 BC/72/30 1 11.08 11.08 161 **UFB** - Bracket-Flush mount **STEELCASE Tag For** 08. Room 135 - Office 4 **BRKT** 162 1 37.28 37.28 AWAG2 - Grommet-Round, 2 1/2 dia **GROMMET: 0835 BLACK STEELCASE Tag For** 08. Room 135 - Office 4 21.06 163 TS7WKSPT66 - Reinforcing channel, 66W 1 21.06 **STEELCASE**

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

ACCEPTED BY:__



Peter Gaslow - President Empire Office Inc.

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 **Quotation - 454955** Page 39 / 43 (cont'd)

Descr	ription		Quantity	Unit Price	Extended Price
163	Tag For	08. Room 135 - Office 4 RC			
164	SIZE OPTIOD DEPTH: 36.4 WIDTH: 72.0 SUPPORT - SUPPORT - MODESTY II CASE FINIS (HPL) TOP SURFA WENGE (HE EDGE FINIS GROMMET WORKSURI STEELCASE	Desk- Shell,6" Overhang N: MODULAR 00000 00000 RIGHT: FULL DEPTH END PANEL LEFT: FULL DEPTH END PANEL PANEL: FULL SH: WOODGRAIN HPL 2HBW - BISQUE WENGE ACE FINISH: WOODGRAIN HPL 2HBW - BISQUE PL) SH: PLASTIC - PG1 6705 - BISQUE WENGE LOCATION: NO GROMMET FACE THICKNESS: 1.12500	1	547.42	547.42
Sub T		08. Room 135 - Office 4 36/72			5,368.2 5,368.2
09. R	oom 111 - B	reakroom			
165	FRAME: 479 SEAT: 6BD6 SHELL: 6BD GLIDES: *O	D6 LAGOON PT:GLIDES D: STD:HARD GLIDES	2	338.64	677.28
Sub T	otal	IVIOVE			677.28
Total					677.28
	oom 109 - P	rinter Room			
166		Iniversal post 9 PLATINUM METALLIC E	4	78.97	315.88

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

ACCEPTED BY:___



110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094

ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 **Quotation - 454955** Page 40 / 43 (cont'd)

Description			Quantity	Unit Price	Extended Price
166	Tag For	10. Room 109 - Printer Room PS			
167	Answer / Kic	K - Universal; Bin-Over the case, Flat front, Technology / k application, 48W 9 PLATINUM METALLIC	1	313.68	313.68
	LOCK: 9201	POLISHED CHROME			
	KEYS: SK R	AND			
	DOOR: *OP	T:DOOR OPTIONS			
	STD DOOR	: STD:STANDARD DOOR			
	NO ASST:	STD:NO ASSIST			
	LOCK OPT:	*OPT:LOCK OPTIONS			
	LOCK: STD	:LOCK			
		: *OPT:OPTIONAL BRACKETS			
	OMIT: OMIT				
	STEELCASE				
	Tag For	10. Room 109 - Printer Room OH/48/16			
168	USWS - Worksurface-Straight, Laminate, Plastic edge profile		1	113.61	113.61
	SIZE OPTIO	N: MODULAR			
	DEPTH: 24.0	00000			
	WIDTH: 48.0	00000			
	WENGE (HF	CE FINISH: WOODGRAIN HPL 2HBW - BISQUE PL) ECTION: LONG GRAIN			
	EDGE FINIS	H: PLASTIC - PG1 6705 - BISQUE WENGE			
		CESS: NO POWER ACCESS			
		NO SCALLOP			
	GROMMET: NO GROMMET				
	CORD DROP: WITH CORD DROP				
		H CORD DROP: 23.50000			
	STEELCASE				
	Tag For	10. Room 109 - Printer Room 24/48			
169	RBKHWM48	3 - Bracket-Wall attachment, Horizontal, 48W	1	98.92	98.92
	BASIC: 4799	PLATINUM METALLIC			
	STEELCASE	Ē			
	Tag For	10. Room 109 - Printer Room HB/48			

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

ACCEPTED BY:_	
TITLE::	DATE:



Peter Gaslow - Fesident Empire Office Inc.

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955 Page 41 / 43 (cont'd)

Descr	ription		Quantity	Unit Price	Extended Price
170	RSC18305KF - Cabinet-Storage, 4 adjustable shelves, Flush steel front, 18D x 30W x 65 1/2H BASIC: 4799 PLATINUM METALLIC		1	807.14	807.14
	LOCK: 9201 F	POLISHED CHROME			
	KEYS: SK RA	ND			
	TOP OPT: *O	PT:TOP OPTIONS			
	STL TOP: ST	TD:1" STEEL TOP			
	STEELCASE				
	Tag For	10. Room 109 - Printer Room SC/65-1/2			
171	LSL18 - Light	-Shelf, LED, 18 1/2W	1	201.39	201.39
	BASIC FINISI	H: PLASTIC 6009 - ARCTIC WHITE			
	MOUNT: MAG	GNETIC MOUNT			
	STEELCASE				
	Tag For	10. Room 109 - Printer Room LSL/18			
Sub T	otal				1,850.62
Total					1,850.62
11. R	eception - Ro	om 104			
172	465A300 - Th	ink; Chair, 3D knit	2	679.70	1,359.40
172		ink; Chair, 3D knit EME: MONOCHROMATIC	2	679.70	1,359.40
172	COLOR SCHI FRAME FINIS METALLIC	EME: MONOCHROMATIC SH: SMOOTH METALLIC 4799 - PLATINUM	2	679.70	1,359.40
172	COLOR SCHI FRAME FINIS METALLIC OUTER BACI	EME: MONOCHROMATIC SH: SMOOTH METALLIC 4799 - PLATINUM K FINISH: PLASTIC - PG1 6249 - PLATINUM SOLIE	2	679.70	1,359.40
172	FRAME FINIS METALLIC OUTER BACK BACK FINISH	EME: MONOCHROMATIC SH: SMOOTH METALLIC 4799 - PLATINUM K FINISH: PLASTIC - PG1 6249 - PLATINUM SOLIC H: 3D KNIT 5054 - CANARY	2	679.70	1,359.40
172	COLOR SCHI FRAME FINIS METALLIC OUTER BACI BACK FINISH	EME: MONOCHROMATIC SH: SMOOTH METALLIC 4799 - PLATINUM K FINISH: PLASTIC - PG1 6249 - PLATINUM SOLIE H: 3D KNIT 5054 - CANARY I: STAND IN 5626 - CHARDONNAY	2	679.70	1,359.40
172	COLOR SCHI FRAME FINIS METALLIC OUTER BACI BACK FINISH SEAT FINISH CYLINDER T	EME: MONOCHROMATIC SH: SMOOTH METALLIC 4799 - PLATINUM K FINISH: PLASTIC - PG1 6249 - PLATINUM SOLIC H: 3D KNIT 5054 - CANARY I: STAND IN 5626 - CHARDONNAY YPE: STANDARD RANGE	2	679.70	1,359.40
172	FRAME FINIS METALLIC OUTER BACI BACK FINISH SEAT FINISH CYLINDER TY BASE TYPE:	EME: MONOCHROMATIC SH: SMOOTH METALLIC 4799 - PLATINUM K FINISH: PLASTIC - PG1 6249 - PLATINUM SOLIE H: 3D KNIT 5054 - CANARY I: STAND IN 5626 - CHARDONNAY	2	679.70	1,359.40
172	FRAME FINISMETALLIC OUTER BACK FINISMETALLIC SEAT FINISMETALLIC BASE FINISMETALLIC	EME: MONOCHROMATIC SH: SMOOTH METALLIC 4799 - PLATINUM K FINISH: PLASTIC - PG1 6249 - PLATINUM SOLIC H: 3D KNIT 5054 - CANARY I: STAND IN 5626 - CHARDONNAY YPE: STANDARD RANGE PLASTIC BASE	2	679.70	1,359.40
172	FRAME FINISMETALLIC OUTER BACK FINISMETALLIC SEAT FINISMETALLIC BASE TYPE: BASE TYPE: BASE FINISMETALLIC CASTER OR	EME: MONOCHROMATIC SH: SMOOTH METALLIC 4799 - PLATINUM K FINISH: PLASTIC - PG1 6249 - PLATINUM SOLIE H: 3D KNIT 5054 - CANARY I: STAND IN 5626 - CHARDONNAY YPE: STANDARD RANGE PLASTIC BASE II: SMOOTH METALLIC 4799 - PLATINUM	2	679.70	1,359.40
172	FRAME FINISH METALLIC OUTER BACK BACK FINISH SEAT FINISH CYLINDER TO BASE TYPE: BASE FINISH METALLIC CASTER OR LUMBAR OP	EME: MONOCHROMATIC SH: SMOOTH METALLIC 4799 - PLATINUM K FINISH: PLASTIC - PG1 6249 - PLATINUM SOLIE H: 3D KNIT 5054 - CANARY I: STAND IN 5626 - CHARDONNAY YPE: STANDARD RANGE PLASTIC BASE I: SMOOTH METALLIC 4799 - PLATINUM GLIDE TYPE: HARD CASTERS	2	679.70	1,359.40
172	FRAME FINISMETALLIC OUTER BACK FINISMETALLIC SEAT FINISMETALLIC CASTER OR LUMBAR OPTHEADREST OF THEADREST OF	EME: MONOCHROMATIC SH: SMOOTH METALLIC 4799 - PLATINUM K FINISH: PLASTIC - PG1 6249 - PLATINUM SOLIE H: 3D KNIT 5054 - CANARY I: STAND IN 5626 - CHARDONNAY YPE: STANDARD RANGE PLASTIC BASE H: SMOOTH METALLIC 4799 - PLATINUM GLIDE TYPE: HARD CASTERS TION: ADJUSTABLE LUMBAR	2	679.70	1,359.40
172	FRAME FINISH METALLIC OUTER BACK BACK FINISH SEAT FINISH CYLINDER TO BASE TYPE: BASE FINISH METALLIC CASTER OR LUMBAR OP HEADREST COAT HANGE	EME: MONOCHROMATIC SH: SMOOTH METALLIC 4799 - PLATINUM K FINISH: PLASTIC - PG1 6249 - PLATINUM SOLIE H: 3D KNIT 5054 - CANARY I: STAND IN 5626 - CHARDONNAY YPE: STANDARD RANGE PLASTIC BASE H: SMOOTH METALLIC 4799 - PLATINUM GLIDE TYPE: HARD CASTERS TION: ADJUSTABLE LUMBAR DPTION: NO HEADREST	2	679.70	1,359.40
172	FRAME FINISH METALLIC OUTER BACI BACK FINISH SEAT FINISH CYLINDER TO BASE TYPE: BASE FINISH METALLIC CASTER OR LUMBAR OP HEADREST COAT HANG PACKAGING	EME: MONOCHROMATIC SH: SMOOTH METALLIC 4799 - PLATINUM K FINISH: PLASTIC - PG1 6249 - PLATINUM SOLIE H: 3D KNIT 5054 - CANARY I: STAND IN 5626 - CHARDONNAY YPE: STANDARD RANGE PLASTIC BASE H: SMOOTH METALLIC 4799 - PLATINUM GLIDE TYPE: HARD CASTERS TION: ADJUSTABLE LUMBAR DPTION: NO HEADREST ER: NO COAT HANGER	2	679.70	1,359.40
172	FRAME FINISH METALLIC OUTER BACI BACK FINISH SEAT FINISH CYLINDER TO BASE TYPE: BASE FINISH METALLIC CASTER OR LUMBAR OP HEADREST COAT HANG PACKAGING	EME: MONOCHROMATIC SH: SMOOTH METALLIC 4799 - PLATINUM K FINISH: PLASTIC - PG1 6249 - PLATINUM SOLIE H: 3D KNIT 5054 - CANARY I: STAND IN 5626 - CHARDONNAY YPE: STANDARD RANGE PLASTIC BASE H: SMOOTH METALLIC 4799 - PLATINUM GLIDE TYPE: HARD CASTERS TION: ADJUSTABLE LUMBAR DPTION: NO HEADREST ER: NO COAT HANGER : NOT APPLICABLE	2	679.70	1,359.40

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

ACCEPTED BY:___



110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050 **Quotation - 454955** Page 42 / 43 (cont'd)

Desci	ription	Quantity	Unit Price	Extended Price	
Sub T	Total Control of the			1,359.40	
Total				1,359.40	
173	INSTALL - Receive, deliver and install during normal business hours.	1	12,500.00	12,500.00	
	INSTALL TO BE COMPLETED IN 2-3 DAYS EMPIRE OFF				
Quotation Totals					
Sub T	Total Total			142,121.40	
Gran	d Total			142,121.40	

End of Quotation

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

ACCEPTED BY:		
TITI F:	DA TE-	



EMPIREOFFICE.COM

HQ 654 MADISON AVE, FL 14 NEW YORK, NY 10065 212-607-5500

110 HILLCREST ST ORLANDO, FL 32801 407-628-2400 2 OAKWOOD BLVD, STE 140 HOLLYWOOD, FL 33020 954-707-6200

1000 NEW COUNTY RD, UNIT A SECAUCUS, NJ 07094 ACCOUNTING 396 ROUTE 6 & 209 MILFORD, PA 18337 212-607-5500

1000 N ASHLEY DR, STE 130 TAMPA, FL 33602 813-543-5050

Quotation - 454955 Page 43 / 43 (cont'd)

Empire Office, Inc. Standard Terms & Conditions of Sale

- 1. These Terms & Conditions are superseded by any contradictory terms and conditions included in a contract between Empire Office, Inc. ("Empire") and client in effect at the time of quote approval
- If no contract between Empire and client is in effect at the time of quote approval, the parties shall be bound by these Terms and Conditions, irrespective of whether or not client accepts these Terms and Conditions by written acknowledgement, by implication, or acceptance and payment of goods and services ordered hereunder. Except for credit and payment terms that are subject to change based on Empire's Credit Department review, these Terms and Conditions will continue to apply to all subsequent orders, unless otherwise agreed in writing.
- 3. Payment and Terms: Unless different credit terms were agreed in writing between client and Empire, a deposit of 50% of the purchase price is required upon order placement, 40% is payable on delivery (or any part thereof), its expressly understood that the final invoice is due and payable regardless of the presence or extent of punch list Items. Empire's invoices are due when received by client. A 3% credit card processing fee will be added to each invoice (including on taxes) if client prefers to use this method of payment. If a product management, in/out or any other fee applies to this quote, these fees shall be disclosed to disclosed to disclosed to client prior to order placement. A service charge at the highest interest rate permitted by local law will be assessed on past due invoices, accruing on a daily basis from the invoice's original due date. In addition to the service charge, client shall pay legal fees incurred by Empire in connection with collection of past due invoices. Client agrees that in the event of any default in payment, Empire, at its option, may repossess all of the product at client's expense, if such payment default is not cured within 30 days from its original due date.
- 4. Returns, Changes and Cancellations: Upon Empire's order placement with its vendors, orders cannot be changed or cancelled without Empire's written consent. Product is not returnable. The costs of approved changes and/or cancellations are the responsibility of client, including any lost vendor deposits, design and administrative work performed by Empire to implement the changes as well as any charges incurred by Empire from its vendors relating to such changes or cancellations. In addition to the charges mentioned herein, in case of cancellation or reduction in scope, Empire shall charge client 20% of the quoted purchase price for Empire's overhead. Any scope changes at the request of client (or anyone acting on client's behalf) or due to site conditions, will be chargeable based on Empire's standard labor rates applicable to the relevant market regardless of whether such change was requested or approved in writing by client. Such charges shall be invoiced together with Empire's final invoice upon completion of installation (or any part thereof).
- 5. Design: Client acknowledges that in the event the order includes design services, client is allowed one design change at no cost to client, unless otherwise agreed in writing. Any subsequent changes not due to any act or omission of Empire will result in additional charges to client at Empire's rates for design services in the relevant market.
- 6. Delivery and Installation: Unless otherwise agreed in writing between client and Empire: (a) Empire will deliver and install during normal business hours 8:00 AM and 4:00 PM, Monday through Friday, (b) client will be responsible for overtime premium for work performed outside normal business hours, and (c) client will be responsible for required prevailing wage or union labor and related benefits even if not specifically detailed in writing on Empire's quote. It is the responsibility of client, or someone acting on client's behalf, to be present at time of delivery and installation, to acknowledge receipts and verify the condition of the product delivered. Client's failure to sign for receipt may result in either a redelivery via an additional cost to client, or deemed acceptance of the delivery as to volume, condition, and specification. If client makes any changes to the delivery schedule within three business days of the scheduled delivery day, client shall be responsible for all direct costs associated with the cancelled delivery and such claims of the scheduled delivery in addition to all costs associated with the rescheduled delivery. Any such charges shall be added to and invoiced together with the delivery invoice. If Empire is unable for any reason outside of Empire's control to deliver the product in accordance with client's original scheduled delivery date, client will be invoiced for the full amount of product upon the earlier to occur of. (a) Empire's attempt to deliver the product; or (b) the date originally scheduled for delivery. Title to the product passes to client only when the purchase price and all other charges hereunder have been paid in full, provided, however, risk of loss shall transfer to client upon delivery of product. Any product protection provided by Empire after transfer of risk of loss shall be at a price to be agreed upon between the parties.
- 7. Condition of Job Site. The job site must be clean and free of all other trades and construction debris prior to delivery and installation, with sufficient electrical current, HVAC, elevator service and a secure final plan proposed location. Client is responsible for obtaining all permits and scheduling all elevators, elevator operators, security, hoisting, loading docks (available for Empire's exclusive use during Empire's delivery), power and any other building services needed. Failure to provide a job site in the proper condition may result in installation delays and/or additional charges, at Empire's sole discretion.
- 8. Partial deliveries can be made at client's request or if conditions on site require them and will be subject to an additional charge
- 9. Storage: Product quoted to be delivered to a storage facility, can be held without cost for up to 30 days. Any product that: (i) was quoted to be delivered to site and was redirected to a storage facility, (ii) is owned by client and brought and held in a storage facility, or (iii) was quoted to be delivered to a storage facility and held beyond 30 days due to reasons outside of Empire's control, will incur a storage fee calculated based on Empire's then current rate per square foot in the relevant market multiplied by the relevant square footage.
- 10. Warranties, Maintenance & Repair: It is client's responsibility to have someone acting on client's behalf perform a walk-through with Empire of the job site within five (5) business days following the completion of installation. If Empire's performance is not in accordance with the specifications of the work or the executed quote, it will be noted on the punch list to be provided by Empire to client following the walk-through. If client declines or is not available to do the walk-through within the five (5) business days period, it shall be deemed to have fully accepted the work. Damaged product will be modified to conform to the specifications of the order, or will be replaced, at Empire's sole discretion. Empire hereby fully disclaims any product warranty, expressed or implied shall be responsible for any re-delivery and installation costs related to such defective product. Empire will provide the necessary service, at no charge to client, to correct defects caused solely by Empire's delivery or installation services. Non-warranty repairs and maintenance will be performed at Empire's standard rates. THE FOREGOING IS IN LIEU OF AWARRANTY, EXPRESS, IMPLIED OR STATUTORY, INCLUDING THE IMPLIED WARRANTIES OF MERCHANABILITY AND FITNESS FOR A PARTICULAR PURPOSE, ALL OF WHICH OTHER WARRANTIES ARE HEREBY EXPRESSLY DISCLAIMED BY EMPIRE. CLIENT ASSUMES ALL RISK OF LOSS RELATED TO ANY CLAIMS THAT THE PRODUCT AS INSTALLED BY EMPIRE DOES NOT COMPLY WITH ANY APPLICABLE LAWS, INCLUDING, WITHOUT LIMITATION, ANY AND ALL APPLICABLE CURRENT OR FUTURE LAWS REGARDING HEALTH AND SAFETY IN THE WORKPLACE.
- 11. Use of Materials and Name: Empire may list the project and client in its published lists of its clients and projects, including on its website. Empire may also use copies of images and videos of the project and related content for its portfolio purposes in connection with its marketing materials provided to prospective clients and other interested parties.
- 12. Confidentiality: Any information disclosed relating to the product or the quotes that are subject of these Terms and Conditions shall be confidential.
- 13. Force Majeure: Empire shall not be liable for any damages resulting from: any delay or failure of performance arising from any cause not reasonably within Empire's control, including, without limitation, accidents to, breakdowns or mechanical failure of machinery or equipment, however caused; strikes or other labor troubles, shortage of labor, transportation, raw materials, energy sources, or failure of usual means of supply; fire; flood; war, declared or undeclared; epidemics, pandemics, insurrection; fots; acts of God or the public enemy; or priorities, allocations or ilmitations or other acts required or requested by Federal, State or local governments or any of their sub-divisions, bureaus or agencies related to the foregoing or otherwise. Upon the occurrence of any of the foregoing, Empire may, at its option and without penalty, (1) cancel the order, or (ii) delay performance hereunder for any period reasonably necessary due to any of the foregoing, during which time these Terms and Conditions shall remain in full force and effect, and may increase the purchase price hereunder by the amount of increased costs incurred by Empire due to any of the foregoing events, including, without limitation, any increased materials, supplies, services, labor or overhead.
- 14. LIMITATION OF LIABILITY: EMPIRE SHALL NOT BE LIABLE FOR ANY INDIRECT, INCIDENTAL OR CONSEQUENTIAL DAMAGES, HOWSOEVER CAUSED, INCLUDING BUT NOT LIMITED TO, ANY LOST PROFITS, LOSS OF DEPOSITS OR ADVANCES PROVIDED BY CLIENT TO EMPIRE IF SUCH DEPOSITS WERE EXTENDED BY EMPIRE TO ITS VENDORS WHO FAIL TO PERFORM PROPERLY AND COMPLETELY, LOST SAVINGS, PUNITIVE, EXEMPLARY, AGGRAVATED OR ECONOMIC DAMAGES. ARISING OUT OF THE PRODUCT OR SERVICES PROVIDED BY EMPIRE OR OTHERWISE RELATED TO THESE TERMS AND CONDITIONS, EVEN IF EMPIRE OR ANY OF ITS LAWFUNGENTS, CONTRACTORS, EMPLOYEES OR AFFILIATES HAVE BEEN ADVISED OF THE POSSIBILITY OF SUCH DAMAGES OR CLAIMS. IN NO CASE WILL EMPIRE'S TOTAL LIABILITY ARISING UNDER ANY CAUSE WHATSOEVER (INCLUDING WITHOUT LIMITATION BREACH OF CONTRACT, BREACH OF WARRANTY, NEGLIGENCE, GROSS NEGLIGENCE OR OTHERWISE) BE GREATER THAN THE AMOUNT ACTUALLY PAID TO EMPIRE BY CLIENT FOR THE SPECIFIC PRODUCTS AND SERVICES PURCHASED BY CLIENT AND TO WHICH THE CLAIM RELATES.
- 15. Indemnification: Client agrees to release, indemnify, defend and hold Empire, its officers, agents, and employees harmless from any losses or claims of whatsoever kind or nature, including, without limitation, any deposits paid by Empire to any supplier, in each case, to the extent arising out of or incidental to Empire's performance of work hereunder, except to the extent caused by the gross negligence or willful misconduct of Empire.

These Terms and Conditions have been reviewed and accepted by:				
Signature	Company	Date		
Print Name	Print Title			

Prices will be held for 30 days but are subject to increase by manufacturer. Please be advised that this quote may not include applicable sales and use tax.

ACCEPTED BY:		
TITLE::	DATE:	